Сферична тригонометрия – 2 юли 2012г.
1. Уравнението, описващо еклиптиката в екваториални координати (α и δ) има следния вид:
δ = arctg(sinα.tgε),

където ε е ъгълът между небесния екватор и еклиптиката. 

Намерете аналогичен израз h = f (A) за галактичния екватор в хоризонтални координати (A,h) за наблюдател с географска ширина φ = 49° 34’ и местно звездно време θ = 0h51m.
2. The coordinates of the components of Visual Binary Star μ Sco on August 22, 2008 are given in the table below

	
	( (RA)
	( (Dec)

	μ Sco 1 (primary)
	20h 17m 38s.90
	-12˚ 30' 30"

	μ Sco 2 (secondary)
	20h 18m 03s.30
	-12˚ 32' 41"


The stars are observed using Zeiss refractor telescope at the Bosscha Observatory with aperture and focal length are 600 mm and 10,780 mm, respectively. The telescope is equipped with 765 × 510 pixels CCD camera. The pixel size of the chip is                    9 μm × 9 μm. 
a. Can both components of the binary be inside the frame? (“YES” or “NO”, show it in your computation!) 

b. What is the position angle of the secondary star, with respect to the North?
3. Observation of a star. Observations were done by the naked eye on June 16, 2008, Universal time was used. An observer has registered that a star passed zenith at 0h18m  and at 8h17m its height above the horizon was 87°12'. Find the latitude of the observations

